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2 . Figure 2
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3. Figure 3a
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4. Figure 3d
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5. Figure 3g
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6. Figure 4e

a p-mTOR
- &

GEM (10 nM) - - + +
8a (6.25 uM) -~ + - +

p-mTOR‘ —_— - - ‘

mTOR‘ﬂ — -‘

P—AKT‘ - - J m mTOR

T

P'PTOSGK‘ — o — ‘

PTOSEK M e w . - " p-AKT
p-ERK| - -— — -
-
ERK| w— s o —

B-Actin)— - e ﬁ

menmmem  ART

p-p70S6K
e
See p70S6K
- = p-ERK

-.ﬁ ERK

e B-Actin



7. Figure 4g
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8. Figure 5d

8a (6.25 pM)
8a (12.5 uM)
8a (25 uM)
GEM (10 nM)
GEM (100 nM)

y-H2ax| .

B-Actin |- ‘----—-|

[ I

[ I
(I . |

[ |

P+ 1+
00+

[ S |
o I |

v P ‘ . y-H2AX

- ———— B-Actin



9. Figure S3
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10. Figure S4
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11. Figure S5
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12. Figure S6
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13. Figure S7
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